
LOWX-HBRK
Z34X-CNSL / Z34X-CNSR
FL-RR-KIT
FL-RR-58 / FL-RR-58 / FL-RR-58

Parts List
Item Qty Description

1 1 370Z RHD CONSOLE HANDBRAKE MOUNT
2 3 M6 x 1.0 x 20 FLANGE HEAD BOLT
3 1 M6 x 1.0 x 20 COUNTERSUNK BOLT
4 1 LOW HANDBRAKE CAGE
5 4 M8 WASHER
6 4 M8 x 1.25 x 10

1

2

3

5

6

Step 1.
Install handbrake mount plate

with provided M6 bolts

Step 2.
Install low handbrake cage

**NOTE** master cylinder and remote reservoir lines can
be installed prior to installing the cage to aid installation

Step 3.
Ensure washers are used so that the bolts seat

flush with the underside of the plate

Step 4.
Mount handbrake handle and associated hardware check handle

and and adjust by threading onto master cylinder more / less

Step 5.
Install remote reservoir and connect soft line

Step 6.
Install handbrake line and bleed system

The following seperate products are shown:
1. Remote reservoir kit (FL-RR-KIT)
2. FLUX remote master cylinder (FL-RR-58) (FL-RR-34) (FL-RR-78)
3. Hydraulic handbrake handle + low cage (LOWX-HBRK)
4. 370Z specific console mount (Z34X-CNSR)(Z34X-CNSL)*LH


